Operating Instructions & Parts Manual

3AA20B, 3AA22B and 3AA23B

Please read and save these instructions. Read carefuily before attempting to assemble, install, operate or maintain the product described.
Protact yourself and others by observing all safety information. Failure to comply with instructions could result in personal injury andior
property damage! Retain instructions for future reference.

Dayton
Exhausters

Fume

Description

The Dayton Fume Exhausters are designed for continuous operation to exhaust
fumes and smoke from welding, brazing or soldering operations. The mounting
frame can be used for portable or stationary mounting.

Do not use this fume
m exhauster in a flam-
mable or explosive atmosphere. Do not
use to exhaust aluminum or magnesium
dust, nor any other chemically reactive
dusts. Consult National Fire Protection
Association (NFPA) standards before set-
ting up a dust collection system, espe-
cially NFPA 664,

s Davcen ol
air from a confined

space; this can cause death due to lack
of oxygen. Do not place or operate any
fume exhauster inside a tank or con-
fined area that contains or did contain
volatile fumes or ligquid.

Unpacking

Check for shipping damage. If damage
has occurred, a claim must be filed with
the carrier immediately. Check for com-
pleteness. Immediately report any

missing parts to dealer. Remove all
compenents of fume exhauster from
shipping carton. Refer to Figures 7 or 8,
pages 8 and 10,

Locate and account for the following
components:

* Base (Ref. No. 9)

* 108" Long hose (Ref. No. 31)

¢ Inlet reducer for 3AA228 and 3AA238
{Ref. No.16)

¢ 90° Elbow (Ref. No. 5)
» Two each hose clamps (Ref. No. 32)

¢ Fume exhauster housing assembly
{Ref. No. 3)

¢ Hardware bag

Specifications
Inlet Blower Approx. Approx.
db A Hose Housing Voltage Running Weight
@ 5 Ft. Size {In.) Material HP**** 60 Hz Amps (lbs)
3AAZ0B 600 7.0 5200 79 4 Steel 3/4 115/230v, 7.5/7.35 Il
1Ph
3AA22B 1100 5.6 6900 86 5 Fiberglass 1% 1157230V, 16/8.0 62
1Ph
3AA23B 1100 5.6 6900 84 5 Fiberglass 1% 230/460V, 4.22.1 62
3Pht

{*) At free air.

(**) Static pressure (In. of water column) at no airflow.

(***) In feet per minute (FPM).

1t NQTE: For 460V operation, the 230V control box

(Ref. 28) must be exchanged for a 460V control box

and installed on unit.

(****) All electric motors are 3450 RPM, TEFC.

Dimensions
Refer to chart below and Figure 1

Overall Overall Qverall
tength  Width Height
L{In.) W (In.) H(In.}
3AA20B 3/4 13% 14 26 24, Th 4
3AA22B 1% 21 224 35'% 32'% 11% 5 >
3AA238 14 21 22'h 35'% 32'% 11% 5
Piate with
foot=1"
Figure 1 - Fume Exhauster Dimensions
Form 555722 Printed in China ALLOOS ®
09663 06/07 Dayt on

0507/099/VCPVP

T n-ro2m

~rO0Z2PTwnm




T wnw-—rro2m

5
Dayton Operating Instructions and Pars Manual

3AA20B, 3AA22B and 3AA23B

Dayton’ Fume Exhausters

General Safety Information

For your own safety,
| AWARNING read all of the
Instructions and precautions before

operating tool.
Always follow prop-
A CAUTION er operating proce-

dures as defined in this manual — even
if you are familiar with use of this or
similar tools. Remember that being care-
less for even a fraction of a second can
result in severe personal injury.

BE PREPARED FOR JOB

1. Wear proper apparel. Do not wear
loose clothing, gloves, neckties, rings,
bracelets or other jewelry which may
get caught in moving parts of
machine.

2. Wear protective hair covering 1o con-
tain long hair.

3. Wear safety shoes with non-slip soles.

4, Wear safety glasses complying with
United States ANSI Z87.1. Everyday
glasses have only impact resistant
lenses. They are NOT safety glasses.

5. Wear face mask or dust mask if oper-
ation is dusty.

6. Be alert and think clearly. Never oper-
ate power tools when tired, intoxicat-
ed or when taking medications that
cause drowsiness.

PREPARE WORK AREA FOR JOB

1. Keep work area clean, Cluttered work
areas and work benches invite acci-
dents.

2. Do not use power tools in dangerous
environments. Do not use power
tools in damp or wet locations. Do
not expose power tools to rain.

3. Work area should be properly lighted.

4, Proper electrical outlet should be
available for tool. Three-prong plug
should be plugged directly into prop-

erly grounded, three-prong receptacle.

5. Extension cords should have a
grounding prong and the three wires
of the extension cord should be the
correct gauge.

6. Keep visitors at a safe distance from
work area.

7. Keep children out of workplace.
Make workshop chitdproof. Use pad-
locks, master switches and remove
switch keys to prevent any uninten-
tional use of power tools.

TOOL SHOULD BE MAINTAINED

1. Always unplug tool prior to inspection.

2. Consult manual for specific maintain-
ing and adjusting procedures.

3. Keep tool lubricated and clean for
safest operation.

4. Remove adjusting tools. Form habit
of checking to see that adjusting
tools are removed before switching
machine on.

5. Keep all parts in working order.
Check to determine that the guard or
other parts will operate properly and
perform their intended function.

6. Check for damaged parts. Check for
misalignment of moving parts, bind-
ing, breakage, mounting or any other
condition that may affect a tool's
operation.

7. A guard or other damaged part
should be properly repaired or
replaced. Do not perform makeshift
repairs. (Use the parts list provided to
order repair parts.)

KNOW HOW TO USE TOOL

1. Use right tool for job. Do not force
tool or attachment to do a job for
which it was not designed.

2. Disconnect tool from electric power
when servicing fume exhauster.

3. Avoid accidental start-up. Make sure
that tool switch is in OFF position
before plugging in.

4. Do not force tool. It will work most
efficiently at the rate for which it
was designed.

5. Leave hands free to operate machine.
Protect hands from possible injury.

6. Never leave a too! running unat-
tended, Turn the power off and do
not leave tool until it comes to a
complete stop.

7. Do not overreach. Keep proper foot-
ing and balance.

8. Never stand on tool. Serious injury
could occur if tool is tipped over.

9. Keep hands away from moving parts.

10. Know your tool. Learn the tool’'s
operation, application and specific
limitations.

m The operation of any

power tool can result
in foreign objects being thrown into the
eyes, which can result in severe eye
damage. Always wear safely glasses
complying with United States ANSI

Z87.1 (shown on package) before com-

mencing power tool operation. Safety

glasses are available through your

Grainger catalog.

Assembly

Refer to Figures 2 and 3, page 3.

MOUNT RUBBER FEET

Refer to Figure 2, page 3.

Rubber feet are mounted onto the four

corners of the base. To mount rubber

feet:

1. Lay the base on a flat surface.

2. Mount rubber feet in hole on the cor-
ner using flat washers and hex nut.

3. Repeat steps 1 and 2 to mount three
rubber feet to remaining corners.




Dayton Operating Instructions and Parts Manual

Models 3AA20B, 3AA22B and 3AA23B

Assembly {Continued)

MOUNT MOTOR BASE

Refer to Figure 2.

Motor base is mounted onto top of

base. To mount motor base:

1. Position motor base on top of large
base as shown.

2. Secure motor base to base using four
hex bolts, flat washers and hex nuts.

MOUNT HANDLES

MODEL 3AA20B

Refer to Figure 7, page 8.

1. Position handle on back of blower
housing (Ref. No. 3).

2. Secure handle (Ref. No. 11) to blower
housing using hex head bolts, flat
washers and hex nuts.

MODELS 3AA22B AND 3AA23B
Refer to Figure 2.

Handles are mounted onto top of base.
To mount handles:

1. Position handle on top of large base
as shown.

2. Secure handle to base using hex head
holts, flat washers and hex nuts.

3. Repeat steps 1 and 2 to mount
remaining handle to base.

MOUNT BLOWER HOUSING ASSEMBLY
Refer to Figure 2.

Blower housing assembly is mounted to
the motor base. To mount blower hous-
ing assembly:

1. Position motor foot of blower housing
assembly on motor base as shown.
Block or hold blower housing assem-
bly so that it is stable.

2. Secure motor foot of blower housing
assembly to motor base using four
hex bolts, flat washers and hex nuts.

MOUNT REDUCER
Refer to Figure 2.
Reducer is mounted to inlet guard of

blower housing assembly. To mount

reducer:

1. Position reducer onto inlet guard so
that holes are aligned.

2. Secure reducer to inlet guard using
self-tapping screw.

NOTE: Model 3AA20B does not have
reducer.

Blower Housing Hex Nut
Assembl
semyY '. Flat Washer
Motor Base
H
Self-Tapping Screw Hggd
Flat B9
Hex Head Bolt Washer
Flat Washer —% ¥/ | :exd 1
A7 B0kt
Hex Nut ; °
Rubber !
Foot ~
Flat \i
Washer Handle
Screw—"" Flat Washer
Flat Washer
Hex Nut
Figure 2 ~ Mounting Rubber Feet, Motor
Base, Blower Housing and
Reducer
ATTACH HOSE

Refer to Figure 3.
Hose is attached to reducer or inlet
guard. To attach hose:

1. Slide hose clamp onto free end of
hose. Loosen clamp screw if required
to slide hose clamp onto hose.

2. Position the hose clamp wires on the
hose grooves.

3. Slide hose with clamp onto reducer.

4. Tighten hose clamp screw to secure
hose to reducer.

ATTACH NOZZLE
Refer to Figure 3.

Nozzle is attached onto end of hose. To

mount nozzle:

1. Place hose clamp onto one end of
hose, loosen clamp screw if required
to slide hose clamp onto hose.

2. Slide connector side of nozzle all the
way into hose.

3. Position hose clamp approximately 1°
from end of hose and tighten securely.

ATTACH ELBOW

Refer to Figure 3.

1. Position elbow on outlet guard as
shown.

2. Secure elbow to outlet guard using
self-tapping screw.

90° Elbow/r(g

Outlet ____
Guard

Self-Tapping /

Screw

-

Blower
Housing
Assembly

Figure 3 - Mounting Hose, Nozzle and
Elbow

Daytonj

TV -—-—rQoO2m




Twnw-—raZ2m

Dayton Operating Instructions and Parts Manual

3AA20B, 3AA22B and 3AA23B

Dayton’ Fume Exhausters

Installation

Do not permit fingers

to touch terminals of
plug when installing or removing the
plug to or from the outlet.

(AWARNlNG Do not connect to

power source until
unit Is completely assembied.

SINGLE PHASE,
MODELS 3AA20B AND 3AA22B
POWER SOURCE

1. Motor is designed for operation on
115V or 230V, 60Hz.

2. Motor is prewired for operation on
115V, 60Hz.

3. Normal loads will be handled safely
on voltages not more than 10%
above or below the specified voltage.

4. Running unit on voltages not within
range may cause overheating and
motor burnout.

GROUNDING INSTRUCTIONS
Refer to Figure 4.

1. This tool is equipped with a
3-conductor cord.

2. Do not remove or alter grounding
prong in any manner. In the event of
malfunction or breakdown, ground-
ing provides path of least resistance
for electrical current to reduce risk of
electrical shock.

3. Plug must be plugged into a match-
ing outlet that is properly installed
and grounded in accordance with alt
local codes and ordinances.

4. The conductor with insulation having
an outer surface which is green is
equipment grounding conductor. If
repair or replacement is necessary,
make sure equipment grounding
conductor is not connected to line
terminal.

5. If power cord is worn, cut or dam-
aged in any way, have it replaced
immediately.

Properly Grounded Qutlet

Grounding Prong

3-Prong Plug

Figure 4 - Properly Grounded OQutlet,
115 Volt

improper cti
[A CAUTION |20 oment.

grounding conductor can result In a risk
of electrical shock,

EXTENSION CORDS
1. The use of any extension cord will

cause some drop in the voltage and
loss of power.

2. Wires of the extension cord must be
sufficient in size to carry the current
and maintain adequate voltage.

3. Use the table below to determine the
minimum wire size (A.W.G.) extension
cord. Extension cords are not
recommended for Models 3AA228
or 3AA23B.

4. Use only 3-wire extension cords hav-
ing 3-prong grounding type plugs
and 3-pole receptacles which accept
the too! plug.

5. If extension cord is worn, cut or dam-
aged in any way, have it replaced
immediately.

EXTENSION CORD LENGTH
Wire Size AW.G
UPtoS0ft . oieeiniii e 16

NOTE: Using extension cords over 50 ft.
long is not recommended.

ELECTRICAL CONNECTIONS

All electrical nec-
ITAWARNING Jtions must becxr-u
formed by a qualified electrician. Make
sure tool Is off and disconnected from
power source while motor is mounted,
connected, reconnected or anytime
wiring is inspected.
Motor and wires are installed as shown
in wiring diagram (See Figure 5). Motor
is assembled with approved, 3-conductor
cord to be used at 115/230 volts. Motor
is prewired at the factory for 115 volts.

To use the fume exhausters with a 230V
power supply, have a qualified electri-
cian rewire motor and attach a 230 volt,
I5A three-prong plug onto fume
exhauster line cord.

T3-Black

T1-Black

115V

T3-Black T2-Black

T1-Black T4-Black

230V

Figure 5 - Wiring Diagram

THREE PHASE, MODEL 3AA23B

WIRING FUME EXHAUSTER

Refer to Figure 6, page 5.

1. Fume exhauster is prewired at the
factory for 230 volt, 3-phase opera-
tion. See Figure 6 for wiring diagram.

2. This unit is pre-wired @ 230V, should
this unit require 460V connection,
proper wires and switch must be uti-

lized. A certified or experienced elec-
trician must perform ail installations.




Dayton Operating Instructions and Parts Manual

Models 3AA20B, 3AA22B and 3AA23B

Installation (Continued)

VOLTAGE CHANGE DIAGRAM

@ @ @
™M @ ©

230 VOLTS

999

460 VOLTS

DISCONNECT FROM SUPPLY CIRCUIT BEFORE OPENING

Figure 6 - Wiring Diagram

NOTE: For 460V operation, the 230V
control box (Ref. 28) must be
exchanged for a 460V control box and
installed on unit.

3. Test fume exhauster 10 be sure motor
fan rotates in direction of rotation
arrow. Switch any two leads to
reverse rotation if needed.

Wiring should be
[AWARNING |2 e
qualified electrician.

GROUNDING INSTRUCTIONS

TAWARNING |7roeer connection

grounding conductor can result in risk

of electrical shock. Equipment should be
while in use to protect opera-

tor from electrical shock.

Inspect tool cords periodically, and, if

damaged, have them repaired by an

authorized service facility.

Green (or green and yetlow) conductor
in the cord is the grounding wire. Never
connect the green {or green and yel-
low) wire to a live terminal.

Many cover plate screws, water pipes
and outlet boxes are not properly
grounded. To ensure a proper ground,
the grounding means must be tested by
a qualified electrician.

INSTALLATION FOR ALL MODELS

T Do not fume
A CAUTION |22 =

ambient temperatures exceed 104° F
{40" C) or in corrosive or explosive
atmospheres. Do not exhaust fumes
that are over 180° F. (82° C).

i+ DANGER [efiambpriss
exhaust air from a
confined space; this can cause death
due to lack of oxygen. Do not place or
operate any fume exhauster inside a
tank or confined area that contains or

did contain volatile fumes or liguid.

Distance of
Exhaust Nozzle from

Arc or Torch (in.) CFM Airflow
Uptob 250

6to9 560

9to 12 1000

N Hazardous moving
parts are inside the
fume exhauster. Disconnect electric
power before removing inlet guard,
Attach inlet guard before connecting
electric power.

: :Beware of debris in
i AWARNING |the a:;low. Keep

face and body away from outlet.

The fumes collected by the fume
exhauster should always be piped to
the outside. Locate the fume exhauster
as close as possible to both the opera-
tion and outside exhaust opening. Air
flow will be reduced approximately 2
CFM for every additional foot of hose
or duct installed. Each 90° change in
direction will reduce air flow about 15
CFM.

The fume exhauster can be installed
with the motor in any position, includ-
ing vertical.

Operation
Refer to Figures 7 or 8, pages 8 and 10.

1. Place exhauster as near as practical to
welder or other equipment. Should
provide an air flow rate sufficient to
maintain a velocity of 100 feet per
minute in the welding zone. Use table
below to determine minimum air flow
rate recommended by the American
Welding Society to achieve this con-
trolled velocity.

Select the exhauster with air flow

CFM that exceeds recommended fig-
ure obtained from the table.

AWS Recommended

Nozzle Diameter (In.)

TWwm =m0 m




Dayton Operating Instructions and Parts Manual

3AA20B, 3AA22B and 3AA23B

Dayton’ Fume Exhausters

Maintenance
Turn switch off and
remove plug from
power source outlet before maintain-
ing your fume exhauster.

Refer to Figures 7 or 8, pages 8 and 10.

1. Clean motor of dust, chips or other
particles. If operation is excessively
dusty or dirty, frequent inspection of
motor is required. Vacuum any parti-
¢les that may have entered the

Troubleshooting Chart
Symptom

Motor will not run

motor.

2. Replace worn, cut or damaged line
cord.

3. If a vibration should develop, it may
indicate excessive wear or damage to
the blower wheel. In this case, with
the motor turned OFF and LOCKED
OUT, inspect the blower wheel. If any
damage or excessively worn areas are
noted, replace the blower wheel.

4. Frequently check that all nuts, bolts,
screws, etc. have not loosened due to

Possible Cause(s)

1. Defective plug, cord, switch or motor
2. Blown fuse or circuit breaker

3. Material wedged between impeller
and housing

collector vibration.

Do not operate the
fume exhauster with
damaged or severely worn blower

wheel. The wheel may disintegrate at
operating speed, and high speed frag-
ments may cause death or severe per-
sonal injury and property damage.

Corrective Action

1.
2.
3.

Check wiring, replace defective parts
Check fuse or breaker, replace

Disconnect motor. Remove material
that may be wedged between
impeller and blower housing

Excessive impeller noise

1. Debris or piece of wood between
impeller and blower housing

2. Loose impeller

. Remove material that may be

wedged in impeller

. Disconnect fume exhauster from

power source. Remove inlet guard
(Figure 7 or 8, Ref. No. 6} and tighten
impeller

Excessive motor noise

Defective motor

Have motor checked by qualified motor
service technician

Motor fails to develop full power or
motor stalls

1. Low voltage to collector caused by
circuit overload

2. Low voltage to collector caused by
undersized extension cords

3. Low voltage from power source

1.

2.

Remove other electric machines or
appliances from circuit

Increase wire gauge size of extension
cords or shorten extension cords

. Request voltage check from power

company

Motor slow to start or
fails to reach full speed

1. Burned or defective motor

. Check motor, replace if necessary

2. Defective motor capacitor 2. Replace capacitor
3, Defective motor capacitor switch 3. Check switch, replace if necessary
Motor overheats 1. Motor overload 1. Reduce load by slowing dust
production
2. Improger motor cocling 2. Clean sawdust from motor
Tripping circuit breaker or fuses 1. Motor overloaded 1. Reduce load by siowing dust
production
2. Improper capacity of circuit breaker 2. Use proper capacity circuit breaker
or fuses or fuse




Dayton Operating Instructions and Parts Manual 3AA20B, 3AA22B and 3AA23B

Service Record

Dayton' Fume Exhausters

Date Maintenance performed Replacement components required

Twn -—r0O2m

o



ITn-roZ2m

Dayton Operating Instructions and Parts Manual

3AA20B

For Repair Parts, call 1-800-323-0620
24 hours a day - 365 days a year

Please provide following information:

-Model number

-Serial number (if any}

-Part description and number as shown in parts list

Figure 7 - Repair Parts [Hustration for Fume Exhausters




Dayton Operating Instructions and Parts Manual

3AA20B

Repair Parts List for Fume Exhauster

Reference
Number Description Part Number Quantity
1 Motor assembly HV2123700G 1
2 Motor gasket HV2116600G 1
3 Blower housing HV21238006G 1
4 Qutlet guard HV2123900G 1
5 90° Elbow Hv2124700G 1
6 Inlet guard HV2124000G 1
7 M6 Hex nut * 4
8 Impeller HV2119900G 1
g Base HV2448700G 1
10 Motor base HV2448800G 1
1 Handle HV2356500G 1
12 Rubber foot HV2124500G 4
13 M6 x 20 Hex head screw * 8
14 6 mm Flat washer * 12
15 M6 Fiber hex nut * 8
16 Inlet hose (108~ long) HV2113700G 1
17 M3 x 20 mm Hex head bolt * 10
18 M8 Flat washer * 12
19 8 mm Lock washer * 6
20 M8 Hex nut g
21 4.2 x 12.7 mm Self-tapping screw 8
22 Switch with key HV0806600G 1
23 Strain relief HV0141300G 1
24 Line cord HV2114900G 1
25 Motor bolt HV2119000G 1
26 Motor flat washer HV2119100G 1
27 M6 x 20 mm Hex head screw * 4
28 Hose clamp * 2
29 M8 x 25 mm Hex head bolt * 4
30 Back port nozzle HV2119400G 1
A Hardware bag HV2124900G 1
Recommended Accessories
A 4" Hose extension kit 3AA34B

(*) Standard hardware item, available locally.

{A) Not Shown.




Dayton Operating Instructions and Parts Manual 3AA22B and 3AA23B

For Repair Parts, call 1-800-323-0620
24 hours a day - 365 days a year

Piease provide following information:

-Model number

-Serial number (if any)

_Part description and number as shown in parts list

Twn-—r~_r&oO2m




Dayton Operating Instructions and Parts Manual

3AA22B and 3AA23B

Repair Parts List for Fume Exhausters

Reference Part Number for Models:

Number  Description 3AA22B 3AA23B Quantity
1 Motor assembly HV2125000G HV2125500G 1
2 Motor gasket HV2122600G HV2122600G 1
3 Blower housing assembly (2 pcs.} HV2125100G HV2125100G 1
a Qutlet guard HV2120600G HV2120600G 1
5 90° Elbow HV2120700G HV2120700G 1
6 Inlet guard HV2125200G HV2125200G 1
7 M6 Hex nut * * 4
8 Impeller HV2121000G HV2121000G 1
9 Base HV2124200G HV2124200G 1

10 Motor base HV2124300G HV21243006 1

11 Handle HV2124400G HV2124400G 2

12 Rubber foot HV2124500G HV2124500G 4

13 M6 x 20 mm Hex head screw * * 8

14 6 mm Flat washer * * 12

15 Me Fiber hex nut * * 3

16 Reducer Hv2121500G HV2121500G 1

17 M8 x 20 mm Hex head bolt * * 12

18 8 mm Flat washer > * 16

19 8 mm Lock washer * * 8

20 M8 Hex nut * * 12

21 4.2x12 mm Self-tapping screw * * 8

22 Switch with key HV0806600G — 1

23 Strain relief HV2122800G HV2122800G 1

24 Line cord — - 1

25 Motor bolt HV2121900G HV2121900G 1

26 Motor flat washer HV2122000G HV2122000G 1

27 M6 x 20 mm Hex head screw * * 4

28 Contreol box assembly, 230V — HV2123200G 1

28 Control box assembly, 460V —_— HV23279006G 1

29 M8 x 25 mm Hex head bolt * * 4

30 Back port nozzle HV2122200G HV2122200G 1

3 inlet hose (108" long) HV2125800G HV2125800G 1

32 Hose clamp * * 2
A Hardware bag HV2125400G HV2125400G 1

____ . Recommended Accessories
A 5" Hose extension kit 3AA35B 3AA35B
A 6* Hose extension kit 3AA36B 3AA36B

{(*) Standard hardware item, available locally.
{A) Not Shown,

1

Iwnw-—-—rGZam




Twv -=-r~0O 2 m

Dayton Operating Instructions and Parts Manual 3AA20B, 3AA22B and 3AA23B

Dayton’ Fume Exhausters

LIMITED WARRANTY

DAYTON ONE-YEAR LIMITED WARRANTY. DAYTON® FUME EXHAUSTERS, MODELS COVERED IN THIS MANUAL, ARE
WARRANTED BY DAYTON ELECTRIC MFG. CO. (DAYTON) TO THE ORIGINAL USER AGAINST DEFECTS IN WORKMANSHIP
OR MATERIALS UNDER NORMAL USE FOR ONE YEAR AFTER DATE OF PURCHASE. ANY PART WHICH IS DETERMINED TO
BE DEFECTIVE IN MATERIAL OR WORKMANSHIP AND RETURNED TO AN AUTHORIZED SERVICE LOCATION, AS DAYTON
DESIGNATES, SHIPPING COSTS PREPAID, WILL BE, AS THE EXCLUSIVE REMEDY, REPAIRED OR REPLACED AT DAYTON'S
OPTION. FOR LIMITED WARRANTY CLAIM PROCEDURES, SEE "PROMPT DISPOSITION™ BELOW. THIS LIMITED WARRANTY
GIVES PURCHASERS SPECIFIC LEGAL RIGHTS WHICH VARY FROM JURISDICTION TO JURISDICTION.

LIMITATION OF LIABILITY. TO THE EXTENT ALLOWABLE UNDER APPLICABLE LAW, DAYTON'S LIABILITY FOR CONSEQUENTIAL
AND INCIDENTAL DAMAGES IS EXPRESSLY DISCLAIMED. DAYTON'S LIABILITY IN ALL EVENTS IS LIMITED TO AND SHALL NOT
EXCEED THE PURCHASE PRICE PAID.

WARRANTY DISCLAIMER. A DILIGENT EFFORT HAS BEEN MADE TO PROVIDE PRODUCT INFORMATION AND ILLUSTRATE
THE PRODUCTS IN THIS LITERATURE ACCURATELY; HOWEVER, SUCH INFORMATION AND ILLUSTRATIONS ARE FOR THE SOLE
PURPOSE OF IDENTIFICATION, AND DO NOT EXPRESS OR IMPLY A WARRANTY THAT THE PRODUCTS ARE MERCHANTABLE,
OR FIT FOR A PARTICULAR PURPOSE, OR THAT THE PRODUCTS WILL NECESSARILY CONFORM TO THE ILLUSTRATIONS OR
DESCRIPTIONS. EXCEPT AS PROVIDED BELOW, NO WARRANTY OR AFFIRMATION OF FACT, EXPRESSED OR IMPLIED, OTHER
THAN AS STATED IN THE “LIMITED WARRANTY” ABOVE IS MADE OR AUTHORIZED BY DAYTON.

Technical Advice and Recommendations, Disclaimer. Notwithstanding any past practice or dealings or trade custom,
sales shall not include the furnishing of technical advice or assistance or system design. Dayton assumes no obligations or lia-
bility on account of any unauthorized recommendations, opinions or advice as to the choice, installation or use of products.

Product Suitability. Many jurisdictions have codes and regulations governing sales, construction, installation, and/or use of
products for certain purposes, which may vary from those in neighboring areas. While attempts are made to assure that
Dayton products comply with such codes, Dayton cannot guarantee compliance, and cannot be responsible for how the
product is installed or used. Before purchase and use of a product, review the product applications, and all applicable
national and local codes and regulations, and be sure that the product, installation, and use will comply with them.

Certain aspects of disclaimers are not applicable to consumer products; e.g., (a) some jurisdictions do not alfow the exclusion
or limitation of incidental or consequential damages, so the above fimitation or exclusion may not apply to you; (b} also,
some jurisdictions do not allow a limitation on how long an implied warranty lasts, consequently the above limfitation may
not apply to you; and (c) by faw, during the period of this Limited Warranty, any implied warranties of implied merchantabil-
ity or fitness for a particular purpose applicable to consumer products purchased by consumers, may not be excluded or
otherwise disclaimed.

Prompt Disposition. A good faith effort will be made for prompt correction or other adjustment with respect to any
product which proves to be defective within limited warranty. For any product believed to be defective within limited
warranty, first write or call dealer from whom the product was purchased. Dealer will give additional directions. If unable to
resolve satisfactorily, write to Dayton at address below, giving dealer’s name, address, date, and number of dealer’s invoice,
and describing the nature of the defect. Title and risk of loss pass to buyer on delivery to common carrier. If product was
damaged in transit to you, file claim with carrier.

Manufactured for Dayton Electric Mfg. Co.. 5959 W. Howard 5t., Niles, Hlinois 60714-4014 U.5.A.

Manufactured for Dayton Electric Mfg. Co.
Miles, Nlinois 60714 U.S.A.

Daytonj




